odd

% | r 1
> -G+ 3 * x = S+ & X 2x+ 2
| ’ |
-GSt T T
(’x~ ™ (N ('X_BY‘DC\Z\\ <><_2>(:>(~ i\

(x-2)+ (=D - (x-3Y
(== N (-2

>C

(3(—33(3_— \\)(DC ’2)

1



nsimm
Pencil


144y
B 4s 26 Ls R
|+ 3~ = 1_63{3“1_’&) 3o

_ (}-&X)(-(o>+ 4s( JtvC» _2(0(182{ 3(11‘7)(:(—2.) —65(x-2), g(dﬂ_jx

(- (-6 (w2
Sl 242 % 4 144
<><—&\)(>“<‘> (3¢~173(><—2>
- (3 4(x=2) 3 (- 6)(x- e
(%-6)x=6) (Jﬁﬂ(&«zﬁ

= 3

I

J—


nsimm
Pencil


M—c)

/
o = 0\\“ _ Qm o ,|_ o
(;Z m m”-— 4+ 2N - ~ M _r\j_:“:

(@— (G2 S (i
M(m+2f\ mL

= 27 e Bt A0 - <( - <W\M\\ :
™M (paa 2n ~ ﬁ
i 3132"‘{0” \ - ’L (M-,'—V\\ M i

W)(m.{.z"\ ™M



nsimm
Pencil


